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Q1) An object moving along the x-axis has an initial velocity v = 1 m/s at t = 0. Its velocity two seconds later is

—3 m/s. What is the average acceleration (in m/s?) of the particle between 7 = 0 and 1 = 25? a 2 )
A)2 B)4 C)o D)-2 E)-4 2

A stone is projected vertically upwards from the’surface of the ground with an initial épeed of 15 m/s. Ifs
vera®e speed (in m/s) over the time interval from its projection to the moment just before hitting the ground'is:
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Kf A car is moving along the positive x-axis at a constant speed of 15 m/s. The driver notices a red traffic light 30 m
ad of him. Thus the driver immediately applies the breaks, and the car decelerates uniformly at 3 m/s2. Which of the
following statements is correct?

1 A =
i I The car will stop at a position 7.5 m before reaching the traffic light. \’} =Vl +2 (- Q) wx)

e car will stop at a position 7.5 m after the traffic light. D; - 11 - +q7 T m
C) The car will stop at a position 2.5 m before reaching the traffic light. S A -
D) The car will stop at a position 2.5 m after the trafficlight. ..  » :

E) The car will stop exactly at the position of the traffic light

A helicopter is ascending vertically upwards at a constant speed of 12 m/s. When it is at a height of 60 m above the
. . . oy . ‘. A
roun it re{gases a t:>0'x. The speed (in m/?) of the box just biefor!e 1:t hits the ground is: U;’ = Ul +1 (_‘) (,. 3)
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Q5) In each figure, the set of forces act on an object. Which set does NOT change the state of motion of the object?

Q6) Which of the following statements is WRONG?

A) While mass is a scalar quantity, weight is a vector quantity.
B) The action,force and the reaction force can never act on the same object.
@Qn object can move at constant velo'cify if only one force acts on it:
If an object is moving at constant velocity, then the resultant force acting on it is zero.
E) The acceleration is always along the direction of the resultant forc‘:ey.
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Q7) In the figure !,"‘the force F = 49 N,M=4 kg, 6 =300 4ng the coefficient of Kinetic frictiop between the ground and
block is gy, = 0.2 The Acceleration (in m/s?) of the block is: , F N
[
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Q8) In the figure M| = 3kg, M2=35 kgand g = 30°. All the Surfaces are frictionlegs. The acceleration (in m/s2)
of mass M2 is-

A) 0.6 up the ingline o B) 0.6 down the incline —
C)2s up the incline D)2s down the incline
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Q12) @ Tun arace with 4 friend. At first yoyr kinetic energy is the same as his kinetic energy, but he js running faster
than yoy are. When you increase Your speed by 20 bercent, you are running at the Same speed he jg If your mass js 85 kg,
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